

CÁLCULO MENTAL

Sumas y restas hasta el número 10.

Completa el número que falta en las siguientes operaciones:

$\underline{\quad} - 1 = 1$	$5 + 3 = \underline{\quad}$
$6 + 3 = \underline{\quad}$	$3 - 3 = \underline{\quad}$
$\underline{\quad} + 7 = 8$	$6 + \underline{\quad} = 10$
$6 - \underline{\quad} = 3$	$\underline{\quad} + 1 = 9$
$2 + 3 = \underline{\quad}$	$3 - \underline{\quad} = 1$
$\underline{\quad} - 7 = 2$	$9 - \underline{\quad} = 3$
$5 + 1 = \underline{\quad}$	$8 + \underline{\quad} = 10$
$\underline{\quad} - 1 = 7$	$4 + \underline{\quad} = 9$
$\underline{\quad} - 3 = 1$	$6 - \underline{\quad} = 1$

CÁLCULO MENTAL

Sumas y restas hasta el número 10.

Completa el número que falta en las siguientes operaciones:

$\underline{\quad} - 5 = 4$	$5 + \underline{\quad} = 7$
$3 + 3 = \underline{\quad}$	$\underline{\quad} + 5 = 10$
$7 + \underline{\quad} = 10$	$\underline{\quad} - 6 = 0$
$\underline{\quad} - 8 = 1$	$6 + 3 = \underline{\quad}$
$\underline{\quad} - 2 = 0$	$\underline{\quad} + 2 = 3$
$2 + \underline{\quad} = 8$	$\underline{\quad} - 1 = 6$
$8 - \underline{\quad} = 0$	$3 - \underline{\quad} = 0$
$\underline{\quad} + 7 = 3$	$2 + 2 = \underline{\quad}$
$1 + 8 = \underline{\quad}$	$6 - 1 = \underline{\quad}$

CÁLCULO MENTAL

Sumas y restas hasta el número 10.

Completa el número que falta en las siguientes operaciones:

$5 + 4 = \underline{\quad}$	$7 + \underline{\quad} = 8$
$5 - 5 = \underline{\quad}$	$9 - \underline{\quad} = 7$
$8 - 6 = \underline{\quad}$	$5 + \underline{\quad} = 10$
$4 + 6 = \underline{\quad}$	$6 + 1 = \underline{\quad}$
$7 - \underline{\quad} = 2$	$\underline{\quad} - 3 = 0$
$\underline{\quad} + 3 = 6$	$3 - 2 = \underline{\quad}$
$\underline{\quad} + 7 = 10$	$\underline{\quad} + 1 = 9$
$10 - 5 = \underline{\quad}$	$2 + 8 = \underline{\quad}$
$8 - 2 = \underline{\quad}$	$\underline{\quad} - 3 = 5$

CÁLCULO MENTAL

Sumas y restas hasta el número 10.

Completa el número que falta en las siguientes operaciones:

$2 + 1 = \underline{\quad}$	$5 + 4 = \underline{\quad}$
$10 - 10 = \underline{\quad}$	$6 + \underline{\quad} = 7$
$1 + 7 = \underline{\quad}$	$5 - \underline{\quad} = 4$
$\underline{\quad} - 6 = 0$	$2 - 2 = \underline{\quad}$
$6 - \underline{\quad} = 5$	$7 + 1 = \underline{\quad}$
$5 + \underline{\quad} = 6$	$8 - \underline{\quad} = 0$
$7 - \underline{\quad} = 5$	$8 + \underline{\quad} = 10$
$4 + 6 = \underline{\quad}$	$3 + \underline{\quad} = 7$
$\underline{\quad} - 4 = 6$	$10 - 1 = \underline{\quad}$